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() Compared to Acetaminophen, Indemethacin has less chance to cause liver toxicity.

() Compared to Ibuprofen, Aspirin has less chance to cause Reye’s syndrome.

() Compared to Allopurinel, Febuxestat has more chance to cause liver _toxicity.

( ) Compared to Diazepam, Midazolam has longer half-life in the blood.

( ) Compared to Phenobarbital, Zolpidem has less chance to cause nephrotoxicity.

( ) Compared to Rifampin, Ethambutol has more chance to cause liver toxicity.

() Compared to Isoniazid, Pyrazinamide has more chance to cause hyperuricemia.

( ) Compared to Esomeprazole, Cimetidine has more chance to cause gynecomastia.

( . ) In contrast to Lansoprazole, Misoprostol does not require acid for its activation.

( ) In contrast to Metoclopramide, Domperidone docs not penetrate through the blood-brain barrier.
() Unlike Loperamide, Mosapride increased intestinal motility.

() Unlike Alosetron, Erythremycin reduced intestinal motility.

( ) Compared to Venlafaxine, Alprazolam takes longer time for the onset of anxiety-relieving activity.
( ) Sofosbuvir is more effective than Entecavir to suppress the replication of hepatitis C virus (HCV).

( ) Prednisolone is more effective than Mesalamine to suppress severe inflammation in Crohn’s disease.
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( ) Which are the action mechanisms of entresto used for heart failure treatment? (2 %4~)
(A) Irbesartan inhibits AT1 receptor

(B) LBQ6587 inhibits neprilysin

©) Valsartan inhibits AT1 receptor

(D) Sacubitril inhibit neprilysin

( ) Which are the correct matches for the anticoagulant and its antidote? (2 %)

(A) Protamine sulfate is the antidote for heparin

(B) Agartroban is the antidote for warfarin

(C) Andexxa is the antidote for apixabém

(D) Idarucizumab is the antidote for dabigatran
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18. ( )  Which antihypertensive drug can reduce preload? (2 4)

(A) Eplerenone

(B) Capotril

(C) Prazosin

(D) Amlodipine
19. ( ) Which drug and its action mechanism can be used for supraventricular tachycardia treatment? (2 %)

(A) Pindolol, B blocker

(B) Quinidine, block sodium channel & potassium channel

(C) Verapamil, calcium channel blocker

(D) Adenosine, Al receptor blocker
20. ( ) Which anticoagulant and its mechanism can be used for the prevention of stroke and systemic embolism in patients
with nonvalvular atrial fibrillation? (2 4~)

(A) Clopidogrel, P2Y12 receptor inhibitor

(B) Dabigatran, thrombin inhibitor

(C) Rivaroxaban, Xa inhibitor

(D) Dipyridamole, PDE inhibitor
21. ( ) Which drug can reduce cardiac ox'ygen consumption through decreasing ventricular ejection time to improve
angina symptoms? (% - 1 4)

(A) Hydralazine

(B) Bisoprolol

(C) Nitroglycerin

(D) Nicorandil
22. () Which are the hemodynamic benefits of angiotensin-converting enzyme inhibitor (ACEI) for long term use in post
myocardial infarction patients? (2 4+)

(A) reduce ventricular mass

(B) reduce afterload

(C) reduce cardiac remodeling

(D) reduce water retention
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23. ( ) Which anti-congestive medications can reduce cardiac work? (2 %)

(A) Metoprolol, B1-blocker
(B) Isosorbide dinitrate, NO donor
(C) Ivabradine, Irinhibitor

(D) Digoxin, Na*/K* pump inhibitor
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( ) Which of the following descriptions about ion channels is correct?

(A) lon channels allows ions to go in and out.
(B) Ions pass through ion channels against electrochemical gradient by using ATP.
(C) Ion channel can show selectivity and allows only one or a few types of ions to pass the channel.

(D) The permeability of ion channels can be modulated by ligands or temperature.

( ) Which of the following deécriptions about benzodiazepine is incorrect?

(A) It is a kind of sleep medicine.
(B) Itis a GABA receptor agonist and binds to the GABA binding site.
(C) It increases the open probability of GABA receptor.

(D) The effect of benzodiazepine is related to the modulation of intracellular chloride concentration.

( ) Which of the following descriptions about anti-depressant is incorrect?

(A) Selective serotonin reuptake inhibitor (SSRI) suppressed the recycle of serotonin uptake back to the pre-synaptic
axonal terminal.

(B) The anti-depressive effect of SSRI is very slow and takes weeks to onset.

(C) Ketamine can have rapid anti-depressive effect within lhours to days.

(D) The anti-depressive effect of ketamine is related to the neoneurogenesis (growth of new neurons) in the hippo'campus.

( ) Which of the following descriptions about reproductive drugs is incorrect?

(A) Estradiol is an agonist of estrogen receptor.

(B) Progestin is an agonist of prostaglandin receptor.

(C) A long-acting Gonadotropin-Releasing Hormone (GnRH) analog can suppress premature sexual maturation by
suppressing sex hormone production. | ‘

(D) Calcium channel blockers can help uterine relaxation.
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()  Which of the following descriptions about thyroid related drugs is jncorrect?

(A) Thyroxine (T4) is a drug-of-choice of hypothyroidism.

(B} The concentration of thyroid hormone has a strong daily fluctuation, so the replacement drug of thyroid hormone

should be short-acting.

(C) Radioactive iodine (*'T’) can destroy thyroid gland because iodine accumulated in the thyroid glands.

(D) During thyroid storm, giving iodide solution can suppress the release of thyroid hormone from thyroid gland to the

bloodstream.
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) 1.Desflurane

) 2. Procainamide
) 3. Octreotide

) 4, Buspirone

) 5. Amlodipine

) 6.Metoclopramide
) 7. Anakinra

) 8. Mefloquine

) 9. Clozapine

) 10. Busulfan

) 11. Dapagliflozin
) 12. Misoprostol
) 13. Zolpidem

} 14, Vasopressin

} 15. Riluzole
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